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1 Introduction
It has been requested that each company submit their results to a spreadsheet as provided by the rapporteur
In this paper we summaries our results and our views on ACLR and ACS.
2 Discussion
The spreadsheet has been spilt into 8 sheets based on the simulations carried out so far:
Heterogeneous (Micro); FR1, UL and DL, FR2 UL and DL
Homogeneous (Micro); FR1, UL and DL, FR2 UL and DL
2.1 Heterogeneous
These scenarios are captured with layout 1. We have simulation results for both FR1 (R4-1914163) and FR2 (R4-1614162).
Now the IAB-MT has been separated into 2 classes, wide area and [local]. Layout 1 is using what we believe to be the local IAB-MT nodes, as such the power levels which have been used for the IAB-MT odes are likely to high. 
2.1.1	FR2 ACLR -UL
	
	IAB-MT ACLR at 5% throughput loss [dB]

	
	IAB aggressor - IAB victim | Parent-to-child distance: 40m

	IAB-MT minimum output power [dBm]
	-20
	-10
	0
	17
	22

	Company Huawei
(R4-1914162)
	　
	　
	　
	　24
	　28



2.1.2	FR2 ACS - DL


	
	IAB-MT ACS at 5% throughput loss [dB]

	
	IAB aggressor - IAB victim

	Parent-to-child distance [m]
	40
	60
	80
	100

	Company 
	　
	　
	　
	　



ACS values have already been agreed for FR2 in R4-2002491
· 	ACS value 
· ACS is rounded to an integer 
· IAB-MT ACS of 24 dB for 24.24 – 33.4 GHz
· IAB-MT ACS of 23 dB for 37 – 52.6 GHz

2.1.3	FR1 ACLR - UL

	
	IAB-MT ACLR at 5% throughput loss [dB]

	
	IAB aggressor - IAB victim | Parent-to-child distance: 40m

	IAB-MT minimum output power [dBm]
	-20
	-10
	0
	10
	14.5
	19

	Huawei
(R4-1914163)
	　
	　
	　
	　
	　40
	45



2.1.4	FR1 ACS - DL

	
	IAB-MT ACS at 5% throughput loss [dB]

	
	IAB aggressor - IAB victim

	Parent-to-child distance [m]
	40
	60
	80
	100

	Company X
(R4-XXXXXXX)
	　
	　
	　
	　



In the WF (R4-2002490) the following options were listed:
For IAB MT ACS requirement:
Option 1: reuse the BS requirement as 46dB ACS
Option 2: reuse the UE requirement as 33dB ACS 
Our preference is to adopt the BS level as was done for FR2.
2.1	Homogeneous
It has been agreed to define a wide area IAB-MT, however so far the simulations so far have been done as a micro cell not a macro, as such the distances and the output power may be larger.
We have not done any specific simulations for this scenario as we believe that the heterogeneous scenario is worst case.
The heterogeneous cases show that the BS levels of ACLR should be used, we believe this is also the vase with the wide area network and the homogeneous cases.
.

